Week 7 
Thursday 7th May 2020
Yr 5- Varied fluency
Please click on this link for more information: https://www.youtube.com/watch?v=pF_fkSeaY0Y
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Imperial Measures

Imperial Measures

Ta. Jacob and Zac are measuring the.
‘weight of their pencil cases.

Jacob's pencil case weighs 28g.
Zac's pencil case weighs 2 ounces.

Whose pencil case is the heaviest?

hig

1b. Hafsa and Sophia are measuring the
‘weight of their lunch boxes.

Hafsa's lunch box weighs 16 ounces.
Sophia’s lunch box weighs 2 pounds.

Whose lunch box s the heaviest?

hig

2a. Are the following statements fue or
false?

A. 2stones = 28 pounds

B. Sem Sinches

C. 24inches Sfeet

heig

2b. Are the following statements fue or
false?

A lépints = lgallon
B. 3inches = 3feet
C. 2inches = Sem

heig

3a. Match the measurements fo their

320unces 2stones 2 gallons

16 pints 2 pounds 28 pounds

hig

3b. Match the measurements fo their

247 S6g Sem

2 2feet  2ounces

4a.Filln the missing measurements.

gallon | = 8 pints
2feet = inches
pounds| = 2stones

ing measuremens

g|= 1lounce
2gallons = pints
inches| = 1foot





